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QUESTION 1

A report author needs to produce a JRS report that only shows high priority work items. How can this be accomplished? 

A. Set up traceability links. 

B. Link the report to a query. 

C. Limit the project scope of the report 

D. Add an attribute condition to the report. 

Correct Answer: B 

 

QUESTION 2

A development team is utilizing a project area built on the scrum template. The scrum master wants to understand how
much estimated work remains in the iteration and projection for completion. What action would the scrum master take to
assess this? 

A. Examine the Ranked List of work items. 

B. View the Burndown Chart in the plan Details. 

C. Compare the plan\\'s Initial to Planned snapshot. 

D. Review the Effective Estimate and Time Spent in the Roadmap. 

Correct Answer: D 

 

QUESTION 3

An administrator wants to create a new plan view that shows the parent-child relationships of work items. Which plan
view display allows this? 

A. flat 

B. tree 

C. kanban 

D. taskboard 

Correct Answer: A 

 

QUESTION 4

A manager wants to know how long work items are staying in the In Progress state. Which type of trend report will show
this? 
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A. Work Item Aging 

B. Work Item Closure 

C. Work Item Creation 

D. Work Item Turnaround 

Correct Answer: A 

 

QUESTION 5

A developer working in the RTC Eclipse client has changed several files in the loaded workspace and 

checked them in. 

The developer then suspends the changes. 

What is the result? 

A. The change set is discarded and the changes permanently removed. 

B. The change set is removed from the workspace, but preserved in the repository. 

C. The change set remains in the Outgoing folder but must be reactivated in order to work with it. 

D. The change set is marked as complete and then flows to the current flow target of the workspace. 

Correct Answer: C 
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